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AQA A2 Chemistry exam 

7 Amines and amino acids

1
(a)
A proton acceptor [1]

(b)
C6H11NH2 + H+ ( C6H11NH3+ or any other proton-acceptor reaction [1]

(c)
Cyclohexylamine > ammonia > phenylamine [1]

(d)
Cyclohexylamine has an alkyl group donating electrons towards the nitrogen, enhancing its electron density and making it more likely to be protonated – a stronger base than ammonia [1]


Phenylamine has its nitrogen lone pair overlapping with the -system in the benzene ring and the lone pair is delocalised into the ring and is less available for protonation on the nitrogen [1]; phenylamine is a weaker base than ammonia [1]

(e)
(i) 
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(ii) 
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(a)
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(b)
They are not the same [1]; the dipeptide is not symmetrical, so the ordering of amino acids makes a difference [1]

(c)
(i) 
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(ii) 
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